H & 0l & AHS B Ml A

20248 =0ila LEHSIH 2B AFR 1t

FA: SIMR D

g Ngoz 2

ool A3asid (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2|2 AFR 1t 1,164,211 1,098,449 65,762
Aozl 22 1,062,794 1,064,809 22,015
SIHESAE 815,024 801,339 13,685
=UHANFFA 83,050 78,100 4,950
205 2|3/H| 83,050 78,100 4,950
03 2@ =LHObI 38,940 38,940 0
0 2/¥Es =0l
295,000« 11E« 122 38,940
04 2E =20 44,110 39,160 4,950
023 2 =2 £&H
3,400,000 11H 37,400
0 MOHZAX, =Hale &4 =2 E34|
610,000+ 11 6,710
SIHESREE 31,245 28,813 2,432
205 2|3/H| 31,245 28,813 2,432
10 AHEAMRE=S 12,000 10,000 2,000
0 d=AlZ AFEAe FE= 12,000
noAA=2UASRE=S 8,648 8,454 194
0 2H =2dis B5= 8,648
2 =AU RES 10,597 10,359 238
0 23 =2AHLEE FE= 10,597
olgl2gE 700,729 694,426 6,303
101 21AH| 82,097 79,805 2,292
04 JIZtN2Z2 XS 2 82,097 79,805 2,292
0JlEs 78,8803 x3H 248! 58,687
0 =sdsd 78,8803 x3& 52 12,306
0 Xt=& 78,8803 3 11 2,604
0 JIZHHIZ22X &= 8,500,000 14 8,500
205 2|3/H| 618,632 614,621 4,011
01 & &=H] 145,200 145,200 0
0 o Z8&sHl 900,000 x11& 128 118,800
0 Ex&=H| 200,000 x11&~12& 26,400
02 8= 227,844 224,036 3,808
0 Z2A Ed+8
1,726,003« 11E* 123 227,844
05 od3=g3sdl 82,018 81,815 203
0 2ddas sS3l 6,092,500« 11 67,018
0 OllAr2ASE 223 FY
1,500,000& 10 15,000
06 2lzl2gedR=a] 72,270 72,270 0
0 2% &=H| 2,310,000& x12& 27,720
0 R2y 2=l 1,150,0002 122 13,800
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9|3 AFS Dt

33 Xz 2SN
ool A3asid (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0 YA 2|
750, 0002532+ 128 27,000
0 HARNSHIAT HEY|
750,000 52 3,750
07 SJAALNLH(SSAE, UML) 5,500 5,500 0
02 S3895, MU=
500,000& x11& 13 5,500
08 oI 42N (212491 ) 30,800 20,800 0
0 o8 LIPS DS
1,400, 0002 *1124x23] 30,800
e RETE=EpI ] 55,000 56,000 0
0 ol Foipg oY)
5,000,000 11 55,000
SIN2S R 247,770 263,470 A15,700
BHRFAEL = 700 700 0
301 LELEN S 700 700 0
14 JIEt2 =3 700 700 0
0 HIMNIZA ENEYS
50,0003 +74 350
022g® 7& Q2o 2y
50,0002 +7&H 350
OlAF 2 X 216,670 237,620 220,950
201 =3 172,470 198,820 N26,350
01 At22t2l] 115,970 132,320 16,350
0 23 AAX KA 4,250,000 x22] 8,500
0 DHE2 EuB 1,340,002 13l 1,340
02t% 91@sl A =
100,000 x5 & %52 2,500
0 25l SHIOIX &el 750,000 * 122 9,000
0 M SAl2el 3,000,000 1= 3,000
0 2ti= e 300,000& * 122 3,600
0 93| oKX M= 3,634,000 22 7,268
0 HEE/EZI M= 200,000 %53 1,000
0 BFH I8 FtAa==clH|
180,000 *22] 360
0 ANRES & BaSHIE 78
625,000 * 122 7,500
0 oF&gs JIE AXIQISt
1,000 *85&* 102 850
0 AR 28 28 7Y
425,000 102 4,250
0 SBeHAIAE AIE= 341,000 122 4,092
OrEA=EE 300,000 * 12 3,600
0208es 88 &1= 330,000& #2528 8,250
0 SASA 7Y 22,0003 * 108 A+82 1,760
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B K|gols| 2K
el 22X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
sl 2235 P2 162,500& * 122 1,950
el FAl2ell
550,000& *2CH*4=2 7| 4,400
0 SCHHoHONE etfer & 257 2
500,000 *14] 500
PN IpNE] 1,650,00021% 122 19,800
MR Yt gIEDSY
1,300,000 «3E *23] 7,800
0 BEAZ23 2SS ML
3,500,000& *22] 7,000
HENEZ 3,000,000 22 6.000
gg?s 1Y 55,000& 30 1,650
02 S3=4gHl 48,000 48,000 0
038R= € HA 550,000 * 12 6,600
A AE EHI =Xl
9,000,000& *14] 9,000
0 Xr&2els X 1,450,000& «12& 17,400
0 23l &IIMNE= 1,250,000& «12& 15,000
03 A= SHI 8,500 18,500 10,000
0 tHiJl2 W= A} 4,500,000 *12] 4,500
0 NtOHZ S 2|3 wREA
4,000,000& *12] 4,000
202 04l 34,200 28,800 5,400
01 2LHoIH 34,200 28,800 5,400
0 =LHGiI 150,000 x19E «12& 34,200
301 EtE N = 10,000 10,000
QEI=HNOHI 10,000 10,000
0 AOHZ &2 28l =33
1,000, 000& 102! 10,000
SN FFE 30,400 25,150 5,250
202 04| 25,000 19,750 5,250
04 =XIS+0iH] 25,000 19,750 5,250
02 SE=Y£d ¢
3,400,000 x6H 17,000
0 AlZ22IAR L A2 SRIAEH
4,000,000& »2H 8,000
203 HR=4AH] 5,400 5,400
03 A= PR FA| 5,400 5,400
0 gl R=AH| 5,400
HY2AIHI(AZIAIRD) 101,417 33,640 67,777
JI=ZHI(SISIALR ) 101,417 33,640 67,777
Jl=23H] 49,460 33,640 15,820
201 Ler=23 | 25,840 21,760 4,080
01 At2teltl 25,840 21,760 4,080
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CIS|AIR

ni;

. HY2HFAH|(2ISAFR D
SRl D223 AL2 D (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
0 SEHI(2E) 8,000& x 19 x100 15,200
0 2N2Y dBi-2H|(SS)
560,000 =19 10,640
203 AR F&lh| 8,720 8,480 240
02 BRI A R Z=LIH| 1,520 1,280 240
0 HRAADITIR 80,0004 192 1,520
WENE-TEES ] 7,200 7,200 0
0 RHS(ABIAILD) 300,002+ 122 3,600
0 NG (H2FIRA)
100,000 *3H 122 3,600
405 KR SHI 14,900 3,400 11,500
01 XML =EF S| 13,500 2,000 11,500
0 23l=232/& IS 1,000
0 MRS A HIZWAH 1,000
0HIE E=E 7 1,500
0 &&= JIE JHiiet 7 10,000
2 EA7I 1,400 1,400 0
0 232%8 T4+ 1,400
ol 2| 51,957 0 51,957
101 e124d| 51,957 51,957
01 E= 51,957 51,957
0 SR 8dutao2 51,957




